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11 TRENE R 21 TR EfE
1111 BRI 297,744 3 2130 JE(FIERR 3,944,612 34
1123 SR1TIERK 4,969,890 43 2131 JETE 784,527 7
1151 JEY A 5,068,000 44 2141 B 267,697 2
1159 HAh FEULBRER 525,193 5 2142 Rk 39,612 0
1161 TEEH 238,010 2 TRENEE/ N 5,036,448 44

1169 HAM AR 113,220 1 23 Hit&fE
REhEE G 11,212,057 98 2311 FAREEE 3,511,000 31
14 HoAh & 2321 HAh R 2,380,000 21
1411 FH RS 246,840 2 Hir & E Nt 5,891,000 51
HA & E A 246,840 2 =L t=ris 10,927,448 95

32 e
3211 ZETERat 1,912,035 17
3221 AHAERAT -1,380,586 -12
BREM/NET 531,449 5
HEEBERMRIEH &2 531,449 5
BT 11,458,897 100 EfE - B MERATAEET 11,458,897 100
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